FgArea: ['W1']
NC11 P6
2025-06-13 (Day 69)
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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP6AW W1
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P6AW

BfiE) | EBAK ) | EHE (EHR/HK) | ERERE (/R | XK SRR

07:45 291 160.0 0.314 |2 =| 1Ri%e07:45 B (REEZBE)
08:25 291 160.0 0.314 |Z=| 1Ri%e08:25 Bz (KREEZEHE)
09:15 291 160.0 0.314 [Z=| 1BRi%e09:15 Bzh (REERSE)
10:00 291 160.0 0.314 FA| 1BRi%@10:00 B3h (KRAHEREEE)
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11:20 291 160.0 0.314 FA| 1BRi%@11:20 B3h (RA{ERSE)
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BRIASERRIERE163. 0 ml.
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#HERECE (2097.0 vs 4217.0) 35

REE NS K IREC 2288.0
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P6AW

BfiE) | GEBATK (7)) | ERE (EH/f) | ERERE (/R | XS e

08:05 320 160.0 0.314 FA| 1Bzi%@08:05 B3zh (KRR
09:05 320 160.0 0.314 FA| 1BRi%@09:05 B3h (FKAB{EREE)
13:25 320 160.0 0.314 FA| {Ri%@13:25 Bz (GRAERESE)
14:25 320 160.0 0.314 PH| {Ri%e14:25 Bz (RAHERES)
15:30 320 160.0 0.314 |Z=| 1Ri%e15:30 Bz (REEZERE)
2it]1600.0 (5%) 800.0 ZHKEC: 2290, PH: 6.5
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, BT
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ZRIASLPRIERE96. 0 ml.
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P6AW_W1, Day=68 (2025-06-12)
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